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Int num;
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#include <iostream>
using namespace std;

int main(){

int num;

num = 3; - IEEEAREE
cout<<num<<endl IEEE T =
return 0;
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int CERIEZZEE (integer) ; -
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i - £ cout

« PBEAZIEEE#include <iostream>

(AZ B Blcout/=E )

cout<< “num” <<endl; num

cout<<num<<endl; 3(Anum=3%%4l)
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Extended concept
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#include <iostream>
using namespace std;

int main( ){
int a;
int b;
a = 11;

b = 12;

cout<<a<<endl;
cout<<b<<endl;

=% int a,b;
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#include <iostream>
using namespace std;

int main(){

int cat;

cat=3;

cout<<"There are ";

cout<<cat; 8 cout<<"There are "<<cat<<" cats."<<end!:
cout<<" cats."<<endl;
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1 #include<iostream>
2 using namespace std;
3 int main()

4a {

5 float a;

6 a=11.1100;

7 cout<<a; - B

3 return 6;| 1111
9t}
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1 #include<iostream> £ cout F - EBEBIAFG:R - B
2 #include<iomanip> SR LIER setprecision() BT
3 using namespace std; KEHRSER@EBEKR - B E FH
4 int main() setprecision() HI - HEEZ1ZHE
524 }% #include <iomanip> °

6 float a;

7 a=11.1100;

8 cout<<fixed<<setprecision(5)<<a; —— &g :

S return 9;
10 11.11000
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2bytes (16Msc%#4t) -327682327675k

304 o)

=M I = 4bytes -2147483648% 2147483647 e
-214748364822147483647 =X

REH long int 4bytes 5§ 8bytes  -9223372036854775808% %ld
9223372036854775807

: -9223372036854775808 %
®Y

REZ long long int 8bytes 9223372036854775807 %lld

Ei5EFMEl float 4bytes 2.939x103823.403x10+38 (7 sf) %f

L3RR double 8bytes 5.563x10-309%1.798x10+308 (15 sf) %l f

FIT char 1bytes R 5-12881278L0& 255 %c
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